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Seat No. :  _______________  JD-102 (H) 
January-2021 B.Com., Sem.-V 

305 : Statistics – V 
 Time : 2 Hours]  [Max. Marks : 50 

(Hindi Version)  
  : (1)          
  (2)        
  (3) -                
  (4)  –        

 –  
1. (A) (i)           10 

  (ii)    : 
 3x  e2x + e3x

e2x  dx 
 (B)         :  10 

  (i)   
x2

x + 3  dx 

  (ii) 

 




3 x – 12 x + 5

3 x
 dx 

  (iii) 
5

10.
.(30 – x)4 dx 

 
2. (A) (i)     ,      10 
  (ii) 52             ,      
   (a)       
   (b)       
 (B)     = 3 ,  P(x  2)      10 
   (e–3 = 0.049) 



JD-102 (H) 2  

3. (A)             10 

 (B)          4        

                  

–x  R  ,         

              10 

 . 1 2 3 4 5 6 7 8 9 10 
x 1316 1272 1340 1348 1312 1280 1304 1364 1324 1420 
R 35 20 5 10 5 40 50 20 30 67 

  (n = 4   A2 = 0.73, D3 = 0, D4 = 2.28) 
 
4. (A)            10 

 (B)  AQL = 0.02  LTPD = 0.05 ,      (100, 10, 1)  

          10 
 

 –  

    : ( ) 10 

 (1)    = ` 13 ,      : _______.  

  (a) 13 x 
  (b) 13 + C 
  (c) 13 x + C 
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 (2)      8 ,      _________. 
  (a) 8 
  (b) 8  
  (c) 82 

 (3) p-         _________ 
  (a)  
  (b)  
  (c) - 

 (4)    (2000, 15, 3)    

 (5)   1
6 – 7x  dx = _______ 

  (a) 1
7 log (6 – 7x) + C  

  (b) log (6 – 7x) + C 

  (c) 1
–7 log (6 – 7x) + C  

 (6)         

 (7) R-   CL = 21.47, D3 = 0, D4 = 2.28, ,  LCL = ________.  
  (a) 0 
  (b) 48.9516 
  (c) 19.19 
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 (8)    (100, 18, 1)  ,   P1 = 0.01    

 Pa = 1 ,  ATI      

 (9)     _________           

  (a) –x- 

  (b) c- 

  (c) d- 

 (10)              
  (a)   

  (b)  

  (c) - 

___________ 


